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Individual Homework 8

(a) On input s ,
we remember whether the

first symbol is an "a" or a "b" we do

this by having a subset of states to which we

transition to upon reading an "a" and a

disjoint subset of states upon reading a "b"].

We then accept or reject upon reading the last

symbol (on a Turing machine this means that

we move right until reaching a blank symbol,

~ and then more left one cell) .



















(32) (G) contains the symbols #n
, #12

for each edge GH ,13 E , hence at 4

symbols per edge . Hence the length of

<G) , h ,
is at least 41E1 . So

n > 4(2) so (d)<n14·

(3b) If GCHALf-CLIQUE ,
then for

some IV11> IVI/2 : 1/2 ,

G has at

least (IV) =DV
-N

and hence (E) is of length -I 2






